ALTERNATE CONSTRUCTION FOR
WINDOWS USING (2) STRUTS

OPTIONAL
LONG PANEL
EMBOSSES

1/4” X 1/2" LONG
CARRIAGE ‘BOLT & NUT
USE EXTRA I|7

OPTIONAL SSB GLASS LIGHTS
4 STRUTS

3" 18GA WIDE
(SEE DETAIL A)

3/47 X 1—1/2" X 13GAGE MIN.
GALV. STEEL HORIZONTAL ANGLE. 1/4" X 3/4"
HEX HEAD SELF
2" GALV. STEEL DRILLING SCREW-

HORIZONTAL TRACK _
16 GAGE OR 13 GAGE @ USE (2) 1/4” X 3/4” 16CA. GALV. STEEL X
BASED ON THE WEIGHT m_.:.H% Zm%_u SCREWS. FY g .“.w._m>w_.._,_~>%_.x_|mm._.m ﬁﬁ__._uomx 3
‘/,@} SEE DETAIL D. 7

_ s

OF THE DOOR— | 58
DETAIL A

13 GAGE MIN: GALV. STEEL = =
'}0
3" 18GA. WIDE STRUT

7I 1.25”

OPTIONAL LOCK

4"X 168" AIR VENTS
va REQ'D.

60 SQ. IN. MIN.
TOTAL OPEN >_N_m>v
OPTIONAL.

TRACK SPLICE OR FLAG BRACKET.
FASTEN TO WOOD JAMB WITH
5/16" X 1—1/2"LAG SCREWS. —_J

DETAIL

STRUT JUST
BELOW TOP
FIXTURE.

| 2" 16 GAGE GALV. STEEL
VERTICAL TRACK BOLTED

TO TRACK BRACKETS WITH
1/4"-20 X 5/8" TRACK BOLTS.

9" (SINGLE CAR)

g9 X 7

ALTERNATE CONSTRUCTION FOR
WINDOWS USING (2) STRUTS
/

9 X7

2" ROLLER WITH 7/16" DIA.
SHORT STEM

TIRE: NYLON OR 7 BALL STEEL.

9 X8
2" ROLLER WITH 7/16" DIA.

SHORT STEM
TIRE: STEEL 7 m>_._..|\
14 GAGE GALV. STEEL END

HINGES ATTACHED WITH 4"X 8,., AIR VENTS
(5) SCREWS, TYP. (SEE DETALL C). MB REQ'D.

QPTIONAL SSB GLASS LIGHTS
5 STRUTS

3" 18GA WIDE
(SEE DETAIL A)

OPTIONAL
LONG PANEL
EMBOSSES

PTIONAL LOCK

63" (8FT HIGH).

60 SQ. IN. MIN.
TOTAL OPEN AREA) i 8
OPTIONAL. : 3 4 SECTION

TRACK JAMB BRACKET : : ) 9

8X7 2 BRACKETS EACH SIDE
STRUTS ON
8XB 3 BRACKETS EACH SIDE HINGE LEAF.

(SEE DETAIL C)

m_.l_.. I_OIW
7FT. HIGH

9" (SINGLE CAR)
9 X 8

NOTE: DOOR MUST BE INSTALLED
WITH EITHER AN ELECTRIC OPERATOR

THIS STRUT BELOW
HINGE LEAF.

OTHER STRUTS IN
MIDDLE OF SECTIONS.

END CAF 20GA

END STILE 20GA.

20GA. END STILES FASTENED TO
PANEL WITH TOG-L—-LOCS.

USE END CAP QVER END STILES.
(SEE DETALL B)

1/2" POLYSTYRENE
INSULATION STANDARD|
FOR MODEL—A35

USE ONE
EXTRA SELF DRILLING

OR A LOCK (MUST ENGAGE BOTH

TRACKS ON DOCRS WITH EXTENSION

SPRINGS).

SCREW THROUGH
LEAF OF HINGE, END
STILES AND RAIL. /

IE PEREACH N
)

STRUT. REF., X
.
DETAIL C

GALVANIZED STEEL STRUT.
ATTACHED WITH 1/4” X 3/4"
LONG HEX HEAD SELF
DRILLING SCREWS.

{2 PER VERTICAL STILE)

manzo_._u_zo%__.momﬁm«m, , *
6-D TYPE NAIL MIN. 17
= PANEL GALV AND
PREFAINTED STEEL
25 GAGE ALL
MODELS EXCEPT
24 GAGE MODEL
750, 755.

NN ANNNY

DETAIL B

9 X /
9 X 3

P.0. BOX 8915
LITTLE ROCK, AR
72219-8915

(501) 562-1872

1-3/8" POLYSTYRENE INSULATION
OPTIONAL FOR MOD. 724, 730.
750, 755, 426.
13 GAGE GALV. STEEL BOTTOM BRACKET
ATTACHED WITH 3 FASTENERS.

N

18 GAGE GALV. STEEL CENTER HINGE 20 GAGE GALV. STEEL CENTER STILE
ATTACHED WITH 4 FASTENERS ATTACHED WITH TOG—L—-LOCS OR RIVETS

13 GAGE GALV. STEEL TRACK BRACKETS, SEE ABOVE FOR QUANTITY
AND SPACING, FASTENED TO WOOD JAMBS WITH 5/16" X 1—1/2"
LAG SCREWS & WASHERS. PREPARATION OF JAMBS BY OTHERS.

SEE DETAIL E.
SECTION B-—B

NOTE: GLAZING DOES NOT SATISFY IMPACT
DEBRIS REQUIREMENTS IN FBC

NOTE: UNLESS SPECIFIED OTHERWISE,
ALL FASTENERS ARE 1/4"—14 X 3/4”
HEX HEAD SHEET METAL SCREWS OR
1/4"-20 X 5/8" HEX BOLTS AND NUTS.

SECTION A—A IFL 15080)|

YW winNDSOR DOOR

P.S.F. TABLE
DOOR_SIZE DESIGN PRESSURE TEST PRESSURE
WIDTH | HEIGHT | POSITVE [ NEGATIVE | POSITIVE [ NEGATIVE

9’—Q"|7'-Q0"| +31.2 |-35.8 | +46.8 |-53.7
9'-0"|8'=0" | +31.2 |-35.4 |+46.8 |-53.1

MODELS:

724, 426, 730, 733, 750, 755

PART NAME:

WINDLOAD RESIDENTIAL PAN DOORS

12/15/11] RLB TOLERANCE (W2 C & W4 B

3—-10—08| RLB §
FRAC.£1/64

11-1-07] RLB _|ore t 654 | NEXT LEVEL

3_8-07] RLB ANG. £ 1° 2/27/07

DATE APPROV. W_m\»_/__.m PLOT SCALE DR zm. I_w<

John E Scates PE
3121 FAIRGATE DR.
Carrollton, TX 75007
TX—PE 56308-F—-2203
FL-PE—51737

(972) 492-9500

Professional Engineer's seal
provided only for verification of
windload construction details.

DATE:

DWG. NO.
99-B-082
SHEET 1 OF 6

DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES
LISTED IN THE TABLE AHOVE VIA TESTING TO ANSI/DASMA 108-05.

DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS.




ALTERNATE CONSTRUCTION FOR

3/4" X 1—-1/2" X 13GAGE MIN. WINDOWS USING (2) STRUTS

GALV. STEEL HORIZONTAL ANGLE.

1/4” X 1/2" LONG

CARRIAGE BOLT & NUT OPTIONAL SSB GLASS LIGHTS

16 GAGE GALV. STEEL TOP BRACKET
WIMH 14 GAGE ROLLER HOLDER
SEE DETAIL D.

OPTIONAL
LONG PANEL
EMBOSSES

USE EXTRA
1/4" X 3/4"
HEX HEAD SELF
DRILLING SCREW

2” GALV. STEEL
HORIZONTAL TRACK
, 16 GAGE OR 13 GAGE.
BASED ON THE WEIGHT
13 GAGE MIN. GALV. STEEL TRACK SPLICE SHE AL SCREWS. A

OR FLAG BRACKET. FASTEN TO WOQD
JAMB WITH 5/18% X 1-1/2" LAG SCREWS b :
D

5 STRUTS

3" 18 GA WIDE
(SEE DETAIL A)

STRUT JUST BELOW TOP BRACKET.

=]

/N; 16 GAGE GALV. STEEL
VERTICAL TRACK

Um._|>__l U 2° ROLLER WITH 7/16” DIA. OPTIONAL LOCK

LONG STEM.
u TIRE: STEEL 10 BALL .
A

u ) STRUT ON UPPER PART DETAIL A 10’ (SINGLE N

O_.nw_mO._._OzOZI_ZO_m_.mZu.
SEE DETAIL €. 3" 18GA WIDE STRUT Mum_mZm.WmcmﬁW_wm & HINGES

NOTE: IF OPTIONAL 4

4"X 16" AR VENTS

OPENING

/mmm DETAIL E

14 GAGE GALV. STEEL END HINGE
(COMMERCIAL) ATTACHED WITH (5)

NOTE: DOOR MUST BE INSTALLED
WITH EITHER AN ELECTRIC OPERATOR
OR A LOCK (MUST ENGAGE BOTH
TRACKS ON DOORS WITH EXTENSION

60 SQ. IN. MIN.
TOTAL OPEN AREA)
OPTIONAL.

MB REQ'D.

EMBOSSES ARE SUPPLIED,
3 COLUMNS 0OF CENTER
STILES ARE REQUIRED.

SCREWS. SEE DETAIL C. SPRINGS).

USE ONE

EXTRA SELF DRILLING
SCREW THROUGH
LEAF OF HINGE, END
STILES AND RAIL.

TYP. PER gm_\
END HINGE.

HEIGHT)
20 GAGE
END STILES

| DETAIL E g

uw.. M_o x mW
36" (10 X 7

_u BRACKETS EACH m_om_

STRUT ON UFPER PART
OF SECTION ON HINGE LEAF.
SEE DETAIL C.

1/2” POLYSTYRENE
INSULATION
STANDARD FOR
MODEL 735

/\o/\_ LH RAILS

20GA., END CAPS:

GALVANIZED STEEL STRUT.
ATTACHED WITH 1/4" X 3/4"
LONG HEX HEAD SELF
DRILLING SCREWS.

(2 PER VERTICAL STILE)

20 GAGE END STILES — FASTENED
WITH TOG—L—LOCS TO PANEL.

USE END CAP OVER END STILES.
(SEE DETAIL B)

STOP MOULDING NAILED EVERY 9”
6—D TYPE NAIL MIN.

DETAIL C

21" & 247
HIGH PANEL. GALV.
It F AND PREPAINTED
STEEL 25 GAGE ALL
MODELS EXCEPT
24 GAGE MODEL
750, 755.

1-3/8" POLYSTYRENE INSULATION
OPTICNAL FOR MOCD. 724, 730,
750, 755, 426.

STRUT ON BOTTOM BRACKET

18 GAGE GALV. STEEL CENTER HINGE
(RESIDENTIAL) ATTACHED WITH 4 FASTENERS.

20 GAGE GALV. STEEL CENTER STILE. ATTACHED
WITH TOG-L-LOC QR POP RIVETS TO PANELS.

13 GAGE GALV. STEEL BOTTOM BRACKET

ATTACHED WITH 2 FASTENERS.
BOTTOM SCREW CAN BE ABOVE OR

BELOW ROLLER.

10 X O

NOTE: GLAZING DOES NOT SATISFY IMPACT
DEBRIS REQUIREMENTS IN FBC

13 GAGE GALV. STEEL TRACK BRACKETS. SEE AHOVE
FOR SPACING. FASTEN TO WOOD JAMBS WITH 5/16" X 1-1/2"
LAG SCREWS & WASHERS. PREPARATION OF JAMBS BY QTHERS.

SEE DETAL E.
SECTION B-B

SECTION A—=A FL 15080

NOTE: ALL NON—DESCRIPTIVE FASTENERS SHOWN TQ BE
1/4"-20 X 5/8"” HEX BOLTS & NUTS CR
1/4" X 3/4” LONG HEX HEAD SHEET METAL SCREWS.

P.O. BOX 8915

LITTLE ROCK, AR
W winpsor poor |51k

(501) 562—1872

MODELS:
724, 426, 730, 735, 750, 755
PART NAME:

WINDLOAD RESIDENTIAL PAN DOORS
W2 C & W4 B

P.S.F. TABLE
DOOR SIZE DESIGN PRESSURE TEST PRESSURE
WIDTH HEIGHT | POSITIVE | NEGATVE [ POSITIVE | NEGATIVE
10°=0"|7'=0"|+31.2 |-35.4 |+46.8 |—53.1
0K —_0" _ _ John E Scates PE
10'—0"[8'=0"|+31.2 |-35.4 |+46.8 |-53.1 John E Scafes PE
Carroliton, TX 75007

TX—PE 56308—F—-2203
FL=PE-51737

—12/15/11 RLB
3—10—08 RLB
T578F 285 Fs00 11-1-07 | RLB NEXT LEVEL DATE:

Professional Engineer’s seal rwlmlow _um_lm M\MN\OV

ided only ification of DRN. BY
Windload construction details. DATE  |APPROV. PLOT SCALE BH

DWG., NO.
99-B-082
SHEET 2 OF 6

DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES
LISTED IN THE TABLE ABOVE VIA TESTING TQ ANSI/DASMA 108-05.

DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS.




13 GAGE MIN. GALV. STEEL 16GA. GALV. STEEL
TRACK SPLICE OR FLAG BRACKET. . .
ALTERNATE CONSTRUCTION FOR
@ FASTEN TO WOOD JAMB WITH TOP BRACKET WITH WINDOWS USING (2) STRUTS

5/16" X 1-1/2" LAG SCREWS. 14GA. ROLLER HOLDER
OPTIONAL

m»mpmmm \mw.zr ow_w_och wmmom;_ro. rozo_u>zmr
USE EXTRA / OPTIONAL SSB GLASS LIGHTS EMBOSSES
2" STEEL ROLLER WITH CENTER STILES (5) COLUMNS

1747 X 3/4 7/16" DIA. LONG STEM. CENTER HINGES (3) COLUMNS

HEX HEAD SELF
o 18 GAGE GALV. STEEL DRILLING SGREW TIRE: STEEL 10 BALL. A
VERTICAL TRACK STRUT JUST BELOW

USE (2 4 X __8 STRUTS—
mzmm vm&? mom <<w TOP BRACKET. 3" 20GA WIDE
(SEE DETAIL A)

LOCK O_u._._OZ>_||/ ;
=]
Il_ _|I 1.25" d 14 GAGE GALV. STEEL END

SEE DETAL E HINGES ATTACHED WITH (6) SEE DETAIL C
\ DETAIL D SCREWS, TYP. (SEE DETAIL C). ) , _
4” X 16" AR VENTS

Mé REQ'D. —

STRUT ON UPPER PART 120 SQ. 1N MIN. 16" (DOUBLE CAR)
TOTAL OPEN AREA
OPENING HEIGHT OF SECTION ON HINGE  opTiONAL )
LEAF. (SEE DETAIL C). :

(NOT OVER
DOOR HEIGHT) 75
: 16GA. END CAP
DETAIL A GAGE END STILES

3" 20GA WIDE STRUT
TYP. LOWER STRUT mm_.n,|/
1/2" POLYSTYRENE USE TWD EXTRA SELF DRILLING
INSULATION SCREWS THROUGH TOP AND

STANDARD FOR STRUT ON LOWER ; BOTTOM LEAF OF HINGE, END

MODEL 735 PART OF SECTION STILE & RAIL AS SHOWN.
ABQOVE HINGE LEAF. TYPICAL EACH END HINGE:

(SEE DETALL C).

TRACK JAMB BRACKET GALVANIZED STEEL STRUT. S, 2" STEEL ROLLERS
ATTACHED WITH 1/4” X 3/4" (LONG STEM) ———

4 BRACKETS PER SIDE .
20 GAGE END STILES — FASTENED | | A NG St T Y
: TYP. UPPER STRUT REF. ——|

WITH TOG—L-LOCS TO PANEL. o
USE END CAP OVER END STILES. SANEL w>r< e (2 PER VERTICAL STILE)
(SEE DETAIL B} FREPAINTED STEEL 1-3/8" POLYSTYRENE INSULATION

STOP MOLDING NAILED EVERY 6" 25 GAGE ALL OPTIONAL FOR MOD. 724, 730,

6—D TYPE NAIL MIN. . MODELS EXCEPT 750, 755, 426. NOTE: DOOR MUST BE INSTALLED RAILS

Ly 24 GAGE MQDEL WITH EITHER AN ELECTRIC OPERATOR
NM 750, 755. _—— STRUT DVER BOTTOM BRACKET. OR A LOCK (MUST ENGAGE BQTH DETAIL C

TRACKS ON DOORS WITH EXTENSION
SPRINGS).

74

13 GAGE GALV. STEEL BQOTTOM BRACKET
18 GAGE GALV. STEEL CENTER HINGE 20 GAGE OP_|< STEEL CENTER STILE. ATTACHED WITH 3 FASTENERS. \4 @ X w

ATTACHED WITH 4 FASTENERS. ATTACHED WITH TOG—-L—LOCS OR RIVETS.

13 GAGE GALV. STEEL TRACK BRACKETS. SEE ABOVE SECTION A—A NOTE: GLAZING DOES NOT SATISFY IMPACT FIL 15080
DEBRIS REQUIREMENTS IN FBC

FOR SPACING. FASTEN TO WOOD JAMBS WITH 5/16" X 1—1/2"
NDTE: ALL NON-DESCRIPTIVE FASTENERS SHOWN TO BE
LAG SCREWS & WASHERS. PREPARATION OF JAMBS BY OTHERS. Va0 X S/a" HEX HOLTS & NUTS OR

SEE DETAL E. SECTION B—B 1/4" X 3/4" LONG HEX HEAD SHEET METAL SCREWS.

P.d. BOX 8915
LITTLE ROCK, AR
YWAf winDsoRr DooRr | '] T

(501) 562-1872

John E Scates PE
3121 FAIRGATE DR.
Carrollton, TX 75007
TX—PE 56308—-F—-2203 MODELS:
PSF. TABLE (575 285 Hs0o 724, 426, 730, 735, 750, 755
DQOR SIZE DESIGN PRESSURE TEST PRESSURE

Professional Engineer's seal PART NAME:

WIDTH | HEIGHT | POSITIVE | NEGATIVE | POSITIVE | NEGATIVE B e, of
‘_®_|O: V“|O: +31.2 |—34.0 |[+46.8 |-51.0 windload construction details. WINDLOAD RESIDENTIAL PAN DOORS
—12/15/11] RLB  [7oLERaNCE| WZ C & W4 B

3-10-08] RLB

FRAC.* A\m#z
DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES 1M-1-07 RLB DEC. + .015 | NEXT LEVEL DATE: DWG. NQ.

LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108-05. 3_S-07] RLB ANG. = 1° 2/27/07 99—-B—-082
SCALE
DATE | APPROV.| RGNE | PLOT SCALE SHEET 3 OF 6

DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS.




3/4" X 1-1/27 X 13GAGE MIN. (3) 1/47 CARRIAGE BOLTS 13 GAGE GALV. STEEL TOP BRACKET

GALV. STEEL HORIZONTAL ANGLE. 2”7 GALV. STEEL i WITH 10 GAGE ROLLER HOLDER. OPTIONAL SSB GLASS LIGHTS ALTERNATE CONSTRUCTION FOR

HORIZONTAL TRACK i NOTE THAT ROLLER HOLDER WINDOWS USING (2) STRUTS OPTIONAL
16 GAGE OR 13 GAGE CURL IS TURNED DOWN. LONG PANEL
BASED ON THE WEIGHT N SEE DETAIL D. EMBOSSES

OF THE DOOR. 1/4" X 3/4"
\ SHEET METAL

SCREWS :
\
13 GAGE MIN. GALV. STEEL . STRUT JUST BELOW 8 STRUTS
TRACK SPLICE OR FLAG BRACKET. DRILLING SCREW : TOP BRACKET. 3" 1BCA WIDE

FASTEN TO WOOD JAMB WITH : 2” HURRICANE ROLLER (SEE DETAIL A)
I ]
—

5/18" X 1-1/2"LAG SCREWS. DETAIL D : LONG STEM
2" 13 GAGE GALV. STEEL - TIRE: STEEL 10 BALL. LOCK OPTIONAL:
" VERTICAL TRACK BOLTED —1.25"|~— I/m

TO TRACK BRACKETS WITH _ | _

L
=

A ," Ko>omo>r<.ﬂmmrmzo ____ __
/ : HINGES (COMMERCIAL) ATTACHED T 1 _ _
SEE DETAIL E 74" WITH (B) SCREWS, TYP. SEE DETAIL C \
(SEE DETALL C.) 16’ (DOUBLE CAR)
m SECTION ON HINGE S COLUMNS
Omﬂmv_,.__._z%<m._mm_01.— _ _ ! LEAF. (SEE DETAIL C). Mumz._.mm I_Zovmm NOTE: DOOR MUST BE INSTALLED
—2.75 _ ; 3 COLUMNS WITH EITHER AN ELECTRIC OPERATOR " "
STRUT ON LOWER PART OF ( ) O TOEK: (MUST ENCAGE BOTH Wé xmm%d.km VENTS
. LEAF. (SEE DETALL C).
3" 1BGA WIDE STRUT ( ) TYP. LOWER STRUT REF. SPRINGS). TOTAL OPEN AREA)
STRUT ON UPPER PART OF OPTIONAL
SECTION ON HINGE :
LEAF. (SEE DETALL C). USE TWO EXTRA SELF DRILLING /
/
/

) — =
1/4"=20 X 5/8" TRACK BOLTS. : - m——
STRUT ON UPPER PART OF CENTER STILES _/
DOOR HEIGHT) :
DETAIL A SECTION ABOVE HINGE
UCETAL A . TRACKS ON DOORS WITH EXTENSION
v 120 SQ. IN. MIN.
SCREWS THROUGH TOP AND

Y STRUT ON LOWER PART OF BOTTOM LEAF OF HINGE,
DETAIL E SECTION ABOVE HINGE END STILE & RAIL AS SHOWN.
LEAF. (SEE DETAIL C). TYPICAL EACH END HINGE. END STILE 20GA.

TRACK JAMB BRACKETS . :
1 \M POLYSTYRENE GALVANIZED STEEL STRUT.
[5 BRACKETS EACH SIDE] INSULATION STANDARD " ATTACHED WITH 1/4" X 3/4" |
FOR MODEL 735 . LONG HEX HEAD SELF \.
DRILLING SCREWS. n
(2 PER VERTICAL STILE) m%w_mmﬂ_mﬁoﬂr%m
STRUT ON UPPER PART OF
20GA. END STILES FASTENED TO ; SECTION ON HINGE

PANEL WITH TOG—L-LOCS. h
USE END CAP OVER END STILES. ,. LEAF. (SEE DETAL C). TYP. UPPER STRUT REF. ——|

| /
e > —7
( ) L\ \ \\
SEE DETAIL B 24" PANELS : 0]
GALV. AND DETAIL C /\/\_ LH \§ mzm "

4

STOP MOULDING NAILED EVERY 6" PREPAINTED STEEL
6—D TYPE NAIL MIN. ‘ 25 GAGE ALL 13GA
| MODELS EXCEPT RAILS )

NM \ m 24 GAGE MODEL 1-3/8" POLYSTYRENE INSULATION E

750, 755. OPTIONAL FOR MQD. 724, 730, 750,
755, 426,

T STRUT ON BOTTOM BRACKET

18 GAGE GALV. STEEL GENTER HINGE 20 GAGE GALV. STEEL CENTER STILE
ATTACHED WITH TOG—-L—LOCS OR RIVETS

ATIACHED WITH 4 FASTENERS 13 GAGE GALV. STEEL BOTTOM BRACKET | NOTE: GLAZING DOES NOT SATISFY IMPACT

13 GAGE GALV. STEEL TRACK BRACKETS, SEE ABOVE FOR QUANTITY ATTACHED WITH 2 SCREWS. DEBRIS REQUIREMENTS IN FBC FILL 15080

AND SPACING, FASTENED TGO WQOQD JAMBS WITH 5/16" X 1-1/2" _
LAG SCREWS & WASHERS. PREPARATION COF JAMBS BY OTHERS. SECTION A—A

SEE DETAIL E. m_MO._|_OZ Wlw

NOTE: UNLES SPECIED STHERNSE. 3/ T %
AL PASTENERS ARE /614 X 3/ YW winDsoR DooOR |15 5k

1/4"-20 X 5/8" HEX BOLTS AND NUTS. (501) 562-1872

MODELS:

P.S.F. TABLE
DOOR_SIZE DESIOCN PRESSURE | TEST PRESSURE 724, 426, 730, 735, 750, 755

WIDTH | HEIGHT | POSITIVE | NEGATIVE | POSITIVE |NEGATIVE PART NAME:

16'=0"18"—Q”"| +31.2|—-34.0 | +46.8 |—-51.0 P Sooles PE WINDLOAD RESIDENTIAL PAN DOORS

3121 FAIRGATE_DR. —12/15/11] RLB JTOLERANCE|W2 C & W4 B
Carrellton, TX 75007
TX—PE 56308~ F—2203 5-10-08] RLB Jrcictq/6er
DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES |{§75) 489-9500 11-1-07] RLB  Jorc. '+ .015 | NEXT LEVEL m\om@Wow DWG. NO.
LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108-05. 1

\ Professional Engineer’s seal M|m|DN _M_lw ANG. A @@lmlcmm

ided ly f ificati f
DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS. | Windload comstruction detans. . DATE APPROV. | RGNE | PLOT SCALE SHEET 4 OF 6




3/4" X 1-1/2" X 13GAGE MIN.
GALV. STEEL HORIZONTAL ANGLE.

2" GALV. STEEL
Al

SCREWS

OPENING

{NOT OVER
DAOCR HEIGHT)

HORIZONTAL TRACK
16 GAGE OR 13 GAGE.
BASED ON THE WEIGHT
OF THE DOOR.
13 GAGE MIN. GALV. STEEL
TRACK SPLICE OR FLAG BRACKET.
_u>mqmz_d<<oo_ug>§m<<_41
M\_max_la\w..;nwmomms\m.

SEE DETAIL "E”

-—— 2" 16 GAGE GALV. STEEL
VERTICAL TRACK

HEIGHT

1/47 X 3/4"
SHEET METAL

(3) 1/4" CARRIAGE BOLTS
SHAFT COLLAR

g
/

—]

EXTRA

1/4” X 3/4"
HEX HEAD SELF
DRILLING SCREW

DETAIL D

13 GAGE GALV. STEEL TOP BRACKET
WITH 10 GAGE ROLLER HOLDER.
NOTE THAT ROLLER HOLDER

CURL IS TURNED DOWN.

STRUT JUST BELOW
TOP BRACKET

_' 1.257

QPTIONAL SSB GLASS LIGHTS

ALTERNATE CONSTRUCTION FOR
WINDOWS USING (2) STRUTS

OPTIONAL
LONG PANEL
EMBOSSES

7‘>
iF=: 1]

9 STRUTS

3” 18GA WIDE

:

(SEE DETAIL A)

7
4 SECTIONS

B
LOCK OPTIONAL-
I/ —

]

11

2" ROLLER WITH
7/16" DIA. LONG STEM
WITH SHAFT COLLAR.
TIRE: STEEL 10 BALL.

STRUT ON UPPER PART
OF SECTION ON HINGE LEAF.
SEE DETAIL C.

STRUT ON LOWER PART
OF SECTION ABOVE HINGE
LEAF, SEE DETAIL C.

T 2.75" L

DETAIL A

3” 18GA WIDE STRUT

DETAIL E

_A BRACKETS EACH w_om_

20 GAGE END STILES — FASTENED
WITH TOG—L—LOCS TO PANEL.
USE END CAP OVER END STILES.
(SEE DETAIL B)

STOP MOLDING NAILED EVERY 8"
6—D TYFE NAIL MIN.

|/m”

1/2" POLYSTYRENE
INSULATION
STANDARD FOR
MODEL 735

21”7 HIGH PANEL
GALV. AND
PREPAINTED STEEL
25 GAGE ALL
MODELS EXCEPT
24 GAGE MODEL

750, 755.

14 GAGE GALV. STEEL END
HINGE COMMERCIAL ATTACHED WITH (6)
SCREWS. SEE DETAIL C.

18GA. END CAP & RIVETS

STRUT ON UPPER PART
OF SECTION ON HINGE LEAF.
SEE DETAIL C.

GALVANIZED STEEL STRUT.
ATTACHED WITH 1/4” X 3/4"
LONG HEX HEAD SELF
DRILLING SCREWS.

{2 PER VERTICAL STILE)

\\m._.m_(_._. IN MIDDLE OF BOTTOM SECTION.

1-3/8" POLYSTYRENE INSULATION

— SEE DETAIL €

U:

]
L__1]

A

i

4" X 16" AIR VENTS

1/8" STEEL POP—RIVET 4) REQD.
120 5Q. IN. MIN.

TOP AND BQTTOM QF

ENDCAP TO END STILE. TOTAL

20 GAGE
END STILES

SHAFT COLLAR

NOTE: DOOR MUST BE INSTALLED
WITH EITHER AN ELECTRIC OPERATOR
OR A LOCK (MUST ENGAGE BOTH
TRACKS ON DODRS WITH EXTENSION
SPRINGS).

18" (DOUBLE CAR)

CENTER STILES (7 COLUMNS)
CENTER HINGES (3 COLUMNS})

OPEN AREA)

OFPTIONAL.

TYPICAL LOWER

STRUT REF

USE TWQ EXTRA SELF DRILLING
SCREWS THRDUGH TOF AND
BOTTOM LEAF OF HINGE,

ERENCE

> RAILS

END STILE & RAIL AS
SHOWN. TYPICAL EACH

i

END HINGE.

0

/o3

o

X

TYPICAL UPPER
STRUT REFERENCE

ol¢;
0

7
7
/

/
SHAFT COLLAR N/

\

A/

/I SHAFT COLLAR
TYPICAL ON

L. EACH ROLLER.

Le

AlL C

OPTIONAL FOR MQD. 724, 730, 750, 733, 426.

_—

5/8" SPACE— =

DETAIL "F”

STRUT ON BOTTOM BRACKET

13 GAGE GALV. STEEL BATTOM BRACKET
ATTACHED WITH 2 FASTENERS.
SEE DETAIL "F”

SECTION A—A

18 GAGE GALV. STEEL CENTER HINGE “— 20 GAGE GALV. Mmm_. CENTER STILE.

RESIDENTIAL ATTACHED WITH 4 FASTENERS. ATTACHED WITH TOG—-L—-LOCS OR RIVETS.

NOTE: GLAZING DOES NOT SATISFY IMPACT
DEBRIS REQUIREMENTS IN FBC

13 GAGE GALV. STEEL WINDLOAD TRACK BRACKETS. SEE ABOVE
FOR SPACING. FASTEN TO WOQD JAMBS WITH 5/18" X 1-—1/2"
LAG SCREWS & WASHERS. PREPARATION OF JAMBS BY OTHERS.

SECTION B-—B

18 X /

FL 15G80

SEE DETAIL "E".

NOTE: ALL NON-DESCRIPTIVE FASTENERS SHOWN TO BE
1/4"-20 X 5/8" HEX BOLTS & NUTS OR
1/4" X 3/4” LONG HEX HEAD SHEET METAL SCREWS.

P.0. BOX 8915
LITTLE ROCK. AR
72219-8915
(501) 562-1872

Wi/ winDsOR DOOR

MODELS:

P.S.F. TABLE
DESIGN PRESSURE TEST PRESSURE
POSITIVE | NEGATVE | POSITIVE [ NEGATIVE

+31.2 |-34.0 |+46.8 |-51.0

724, 426, 730, 735, 750,

PART NAME:

WINDLOAD RESIDENTIAL PAN DOORS
Wz C & W4 B

755

DOOR SIZE
WIDTH | HEIGHT

‘_ m~|o: Valovv

John E Scates PE
LRI B,
arrollton

TX—PE 56308—F-2203 3—10-08
FL-PE-51737 -1 —
(972) 482-9500 11-1-07
Profassional Enginesr’s sedl 3—8—-07

provided anly for verification of
windload construction details. DATE

RLB
RLB
RLB
RLB

APPROV.

12/15/11

TOLERANCE

FRAC.1 1,/64"
DEC. + .015
ANG. £ 1°

SCALE
NONE

DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES
LISTED IN THE TABLE ABOVE VIA TESTING TQ ANSI/DASMA 108-05.

NEXT LEVEL DATE:

2/27,/07

DRN, BY
BH

DWG. NO.
99-B-082

SHEET 5 OF 6

PLOT SCALE

DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS.




"X 1—=1/2" OPTIONAL
3/4" X 1—1/2" X 13GAGE MIN. 13 GAGE GALV. STEEL TOP BRACKET ALTERNATE CONSTRUCTION FOR LONG PANEL

GALV. STEEL HORIZONTAL ANGLE. WITH 10 GAGE ROLLER HOLDER.
NOTE THAT ROLLER HOLDER OPTIONAL SSB GLASS LIGHTS WINDOWS USING (2) STRUTS EMBOSSES
2" GALV. STEEL CURL IS TURNED DOWN. —A l/ ”
7/
]

SEE DETAL D.
HORIZONTAL TRACK 11 STRUTS ~. 1 | ; T 1 [ . ]
/] | ] A

16 GAGE OR 13 GAGE. _
y  BASED ON THE WEIGHT 37 18GA WIDE
{  OF THE DQOR. (SEE DETAIL A)

13 GAGE MIN. GALV. STEEL _|I 1.05°

TRACK SPLICE OR FLAG BRACKET. STRUT JUST BELOW TOP BRACKET.
A . N T T
. OPTIONAL LOCK
3 T~ — I A e A
/ [ ] — — — —
? SEE DETAIL C
[—] [—]
—|

FASTEN TO WOOD JAMB WITH (3) 1/4” CARRIAGE BOLTS -
5/16” X 1-1/2" LAG SCREWS. SHAFT COLLAR 7
SEE DETAL "E” N
1/4" X 3 S
—— 2" 16 GAGE GALV. STEEL |  shger METAL ) TMJ_.L o
VERTICAL TRACK SCREWS L . STRUT ON UPPER PART : . . . . . . .
5/8 QF SECTION ON HINGE LEAF. DETAIL A - aoCm_ﬂ%Qa _

1 N
11 N

2" ROLLER WITH
\@ 7/16° DIA. LONG STEM
/4"
EXTRA SEE DETAIL C. 3"1BGA WIDE STRUT _

WITH SHAFT COLLAR.
/4" X 3/47 GENTER STILES (7 COLUMNS)

TIRE: STEEL 10 BALL.
/
HEX HEAD SELF / " " CENTER HINGES (3 COLUMNS
DRILLNG SCREW w_wmmmomv__m zrﬁw»ﬁ_mm_v&mn ﬁﬂﬂ WMWA m _Mwo. %._m VENTS ( )
120 SQ. IN. MIN.

DETAIL LEAF. SEE DETAIL C. 1/8" STEEL POP—RIVET  TOTAL OPEN AREA)

- TOF AND BOTTOM OF OPTIONAL.
ENDCAP TO END STILE. WJ\._.M_%%_WWW_W\_,\N_H,_O_VH

USE TWO EXTRA SELF DRILLING
STRUT ON UPPER PART SCREWS THROUGH TOP AND

BOTTOM LEAF OF HINGE
OF SECTION ON HINGE LEAF. END STILE & RAIL AS

SEE DETAIL C. 20 GAGE SHOWN. TYPICAL EACH
END STILES END HINGE.

HINGE. COMMERGAL ATTACHED WITH (6)
SCREWS. SEE DETAIL C. ! SHAFT COLLAR

_m BRACKETS EACH m_Om_

°(9)

SHAFT COLLAR

NOTE: A4 MR BT piony o o
- 16GA. END CAP & RIVETS ° : %
1/4" X 3/4" LONG HEX HEAD SHEET METAL SCREWS. 5/8" SPACE ‘ m«m%%_.m%_.._umﬂmﬂ/_om

20 GAGE END STILES — FASTENED . STRUT ON UPPER PART DETAIL B
WITH TOG—L—LOCS TO PANEL. 1/2" POLYSTYRENE OF SECTION ON HINGE LEAF. _—
USE END CAP OVER END STILES. INSULATION SEE DETAIL C.

SEE DETAL B STANDARD FOR \
¢ ) MODEL 735 NOTE: DOOR MUST BE INSTALLED /I
L.H.

= \ GALVANIZED STEEL STRUT. WITH EITHER AN ELECTRIC OPERATOR he)
Mwo% km_mo__%rzb“?mo EVERY 6 /Im . ~ ATTACHED WITH 1/4" X 3/4" OR A LOCK (MUST ENGAGE BOTH
LONG HEX HEAD SELF TRACKS ON DOORS WITH EXTENSION =

1 || DRILLING SCREWS. SPRINGS).
Fr L {2 PER VERTICAL STILE) ) 5/8" SPACE— | @

A@IAA...I_OI_u»,zm_. ::
O>_.<.\>z_u STRUT IN MIDDLE OF BOTTCM SECTION. _Umn_u\b/__l _|I Dm|_|>__l O

- PREPAINTED STEEL
% 25 GAGE ALL
18 GAGE GALV. STEEL CENTER HINGE 20 GAGE GALV. STEEL CENTER STILE. MODELS EXCEPT 1—3/8" POLYSTYRENE INSULATION
RESIDENTIAL ATTACHED WITH 4 FASTENERS. ATTACHED WITH TOG—L-LOCS OR RIVETS. 24 GAGE MODEL OPTIONAL FOR MOD. 724, 730, 750, 755, 426.

790, 785 NOTE: GLAZING DOES NOT SATISFY IMPACT __.I_l 1 @O@D_ \4 m VA @
13 GAGE GALV. STEEL WINDLOAD TRACK BRACKETS. SEE ABOVE DEBRIS REQUIREMENTS IN FBC

FOR SPACING, FASTEN TO WOOD JAMBS WITH 5/16" X 1-1/2" STRUT ON BOTTOM BRACKET
LAG SCREWS & WASHERS. PREPARATION OF JAMBS BY OTHERS. SEE DETAL "E". \

13 GAGE GALV. STEEL BOTTOM BRACKET
SECTION B—B 4 ATTACHED WITH 2 FASTENERS. P.D. BOX 8915

e LITTLE ROCK, AR
SECTION A—A™ OFALF YA wENDSOR DOOR| |70 %

SHAFT COLLAR
TYPICAL ON
EACH ROLLER.

(501) 562—1872

MODELS:

PSF. TABLE 724, 426, 730, 735, 750, 755
DOOR SIZE DESIGN _PRESSURE | TEST PRESSURE
PART NAME:

WIDTH | HEIGHT | POSITIVE | NEGATIVE | POSITIVE | NEGATIVE
WINDLOAD RESIDENTIAL PAN DOORS

18'-0"18'-0"|+31.2 |-34.0 |+46.8 |-51.0 John E Scates PE
umuwm_d _..>_mmw_>.mﬁm DR. —[12/15/11 TOLERANCE W2 C & W4 B

Carrollton, TX 75007

TX—PE 56308-F-2203 3—10-08 FRAC.% 1 /64"

DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES  |F§75¥ 785300 11—1-07 pec. +.015 | NEXT LEVEL . om,w_wow DWG. NO.
Professional Engineer's seal 5—8-07/ ANG. £ 1 \ \ @@|W|O®N

:mﬂmo_qumﬂ>mrm>mo<m<_>qmwjzoa>zm_\o>m§>Smlo@
ided only far verification of SCALE DRN. BY
DETERMINATION OF SUITABILTY FOR SPECIFIC SITES IS THE RESPONSIBILTY OF OTHERS. | windioad construction details. DATE RoNE | PLOT SCALE BH SHEET 6 OF 6




